EARAZROREIERT — 2 N—XBISY —F 20145128278 (£) 18[E11A&E4H

M C2—9# C2 #¥5%R3mE EEE R
[AE%] 1 %&:110,000 §  237&:25,000F ~ 37#&:10,000 M  43&:6,000 ~ 57&:3,000H
& % B BmERR M M BF (F8) |244 (&%) | @BIEM | L3F |SiEl | AS | #E | BEM FIRE) / BE / £EHS
1 > BEEE NPT o3 slz‘éJ_l(I)L%w 1:(3_1).5 1-1-1-1 [39.6 | — 2 447 ﬁ%g% (£%)
RiarFafy b BAXETIFS O | 32xE52-77—4
A [ii[mf ] :31. 00~ . — WEZEA (EE)
i c ALY G 1 (321)9 Yerz |08 1 ?g; sHEEs
R4y aggavy By A(4Tad FREHS
o SHIgA : ~4-5- — = EEA (ER)
N PR E A o3| HH 1.(352>.9 6-4-5-4 | 40.2 3 <4+710) e o
LNnN=v774 B:Yv)3x—H-F> RiEHS
— . HBIERE : -3-3- - WEEA (1£8)
N s D242 ETN 3| 2% 1(53/34.)0 2-3-3-3 | 40.9 5 (4;0) e
R:BALNTFy IR BNTTAF I E%35%
7 NS RiFHEER :33. —6-4- . - HETE (E8)
5011 [7Y=>FU—L4L o4 &% 1(333)6 5-6-4-5 | 40.9 6 (4_424) qz#;)ma;; H
Ln-x>Ju> #B:AHvIar BE =i
8 s . EBehifl :33. ~7-7 . - AR (E8)
6 AETZEDEe i 3 e 1(33/34)7 7-7-71-6 | 40.3 7 :?2) ﬁﬂéﬁ ®
R:TTy 7814 F B:RI2—~O—F EFHS
N : t 3 | BERD 1:35.3 -5-6- 3| = REHKX (EH)
715l 5| 7E2Y—F -] & AR L | Eema
L2947 AL N BII—-LRELR HET7— L
@ 1 —F —EBIEL
1 S=7r= 2,3,6,5,1,7,4
2 =zr= 2,6,3,7,5,1,4
30—7-— 2,6,3,1,7,5,4
A =3r= 2,6,3,7,1,4,5
0 LRE
BB 2 280H 74K 2-6 100/ B = 2-6 200H 3EE 2-6-7 180M
7 B 2 200MH 2-7 150/ B B 2-6 420H 3EE 2-6-7 820MH
6 140M 6-7 150M

ABICOVWTRDTEEERROODE. TR LIV,



